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BERX 5 = b BEX 5 =z &t
FIRERX 904 1,064 1968 | |E23/RER 200 227 427
F2O/ERX 1,583 1,809 3,392 FURERX 188 243 431
FI/ERX 866 1,010 1876 | |EBHRER 63 81 144
FARERX 550 639 1,189 FHH/ERX 151 167 318
FEORERX 497 522 1019] |E271HBRER 558 602 1,160
FORER 622 672 1294 |FE28HBRERX 524 611 1,135
FIRERX 131 146 277 FORERXR 208 262 470
FSRERX 211 246 457 FIIH/ER 373 462 835
FIRERX 80 93 173] |E3BER 171 207 378
FIOFREX 94 111 205 |ENHER 142 166 308
FBIKRER 86 111 197 |FEBHRER 79 90 169
FREERX 80 96 176 | |EHHRER 101 123 224
FIBRER 467 496 963 | |FEBHRER 280 328 608
FURERX 158 192 350 | |FEBBER 131 177 308
FISHRERX 241 296 537 |HEIIBER 82 107 189
FIGRERX 142 77 219 FEIBIERX 274 409 683
FITHRERX 102 123 225| |FEIBER 64 76 140
FIBHRER 170 232 402 | |F4BRER 167 177 344
FIOKRER 490 563 1053 |FE4BER 64 72 136
FHRER 107 126 233
FANHRER 298 365 663
FRHRERX 113 124 237
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